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ASSIGNMENT NO. 21 

 

1. If 𝑥 =
√2−1

√2+1
 and 𝑦 =

√2−1

√2+1
, find the value of 𝑥2 + 𝑦2 + 𝑥𝑦. 

2. Simplify: 9
3

2 − 3 × 50 − (
1

81
)

− 
1

2
 

3. Simplify the product: 4√3 + 3√2) × (4√3 − 3√2) 

4. Rationalise the denominator of 
30

5√3−3√5
 

5. Show that: (𝑥𝑎−𝑏)𝑎+𝑏 . (𝑥𝑏−𝑐)𝑏+𝑐 . (𝑥𝑐−𝑎)𝑐+𝑎 = 1 

6. Express 0.328̅̅̅̅  in the form of 
𝑝

𝑞
, where 𝑝, 𝑞 are integers and 𝑞 ≠ 0. 

7. If 𝑎 =
2−√5

2+√5
 and 𝑏 =

2+√5

2−√5
, find 𝑎2 − 𝑏2. 

8. Evaluate: 
15

√10+√20+√40−√5−√80
 is being given that √5 = 2.2 and √10 = 3.2 

9. If 𝑥 = 3 − 2√2, find the value of √𝑥 +
1

√𝑥
 

10. If √2 = 1.414, √3 = 1.732, then find the value of 
4

3√3−2√2
+

3

3√3+2√2
 

 


